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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (). You have to darken the circle as indicated below on
the correct response against each item.

Example : @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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LABOUR WELFARE AND INDUSTRIAL RELATIONS
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Which of the following is/are not a part
of classical approach to management ?
{A) Scientific Management

(B) Administrative Management
(C) Decision Theory

(D) Bureaucratic Organization

Match the following :
Thinker Principle
(a) Henry i. Careful design of
Fayol jobs with ten
efficient work
methods.
(b) Elton ii. Unity of direction.
Mayo
(c) EW. iii. Organizational
Taylor equilibrium
(d) Chester I. iv. Social factors and
Barnard group norms
Codes :
(@ (b)y (c) (d)
(A) i v i iii
(B) i iv i i
(Cy i ii iii v

M i G i v
Which of the following is not a
barrier to effective planning ?

{A) Difficulty of accurate premising.

(B) Environmental changes.
(C) Flexibilities in management.
(D) Time and Cost factors.

Graicuna’s formula suggests that

(A) the number of subordinates and
relations both  increase in
arithmetic progression.

(B) the number of subordinates
increases in geometric
progression and number of
relations increases in arithmetic
progression.

(C) The number of subordinates
and relations both increase in
geometric progression.

(D) the number of subordinates
increases in arithmetic
progression while the number
of relations increase in
geometric progression.

Paper-11

The first step in control process is to
(A) measure actual performance.
(B) establish objectives and standards.
(C) compare results with objectives.
(D) take corrective action.

The procedure for determining
duties, responsibilities,  working
conditions and reporting
relationships is known as

(A) Job design

(B) Job description

(C) Job specification

(D) Job evaluation

In which of the following systems,
minimum wage is guaranteed but
beyond a certain efficiency level,
bonus is given in addition to
minimum day wages ?

(A) Straight piece rate system

(B) Differential piece rate system
(C) Gantt task and Bonus system
(D) Emerson’s Efficiency system

In line and staff organization

(A) lines of  authority and
instructions are vertical.

(B) unmity of command is maintained.

(C) staff specialists advise line
managers to perform their
duties.

(D) Staff decides without
consulting line authority.

TAT stands for

(A) Thematic Application Test
(B) Thematic Apperception Test
(C) Training Aptitude Test

(D) Thematic Attitude Test
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10.

11.

12.

13.

14.

Which of the following is not a
method of Job Evaluation ?

(A) Ranking Method

(B) Grading Method

(C) Paired Comparison Method
(D) Point Method

Who is the propagator of Human
Capital Approach to  Human
Resource Development ?

(A) Lim Teck Ghee
(B) Lorraine Corner
(C) T.W.Schultz
(D) F.D. Lawrence

Which of the following statements
about Human Resource Development
is not true ?

(A) It is an enabling process.
(B) It is a competence building

exercise.

(C) It shall be implemented in an
incremental way with
geographical, vertical,
functional and sophisticating
phasing.

(ID) It does not cover the global and
country level Human Resource
Development practices.

Which of the following is not a
method of performance appraisal ?

(A) Forced Distribution Method
(B) Factor Comparison Method
(C) Forced Choice Method

(D) Critical Incident Method

Gagne-Briggs Theory of Training is
otherwise called as

(A) Instructional Design Theory
(B) Component Display Theory

(C) Elaboration Theory

(D) KSA Theory

Paper-11

15.

16.

17.

Assertion (A) : Quality circles in
India was an imported idea
from Japan without proper
cultural changes in the
organizations.

Reason (R) : The corporate culture
assimilating learning,
empowerment and participation
as equals could not be
developed due to absolete
mindset of both employers and
employees.

Codes :

(A) Assertion is wrong and Reason
does not validate the assertion.

(B) Both Assertion and Reason are
wrong.

(C) Assertion is right but Reason
does not validate the Assertion.

(D) Both Assertion and Reason are
right and the Reason validates
the Assertion.

The aspect of management that is
concerned with the mmdividuals, their
roles, the dyads, the teams and the
entire organization is

(A) Human Resource Management
(B) Human Resource Development
(C) Organizational Behaviour

(D) Organizational Culture

Potential effectiveness of a person in
both personal and interpersonal
situations while in performance in a
position is known as

(A) Role effectiveness
(B) Role efficacy
(C) Role making
(D) Role linking
J-55-14
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18.

19.

20.

The essence of Exchange theory

regarding formation of a group is

(A) People are attracted to one
another on the basis of
exchange of similar attitudes
towards common objects and
goals.

(B) People are attracted to one
another interacting with one
another and cooperating to
achieve the goals.

(C) People are afttracted to one
another by having propinquity
to each other.

(DY) People are attracted to one
another by interacting through
reward-cost outcomes.

Being a Manager in an organization,

if you are asked to enrich the job of

your subordinate, you will not
consider which of the following ?

{A) Remove some controls while
retaining accountability.

(B) Increase the accountability of
individuals to their work.

(C) Introduce mnew and more
difficult tasks compared to
those handled previously.

(DY) Assign general tasks to people
to make them experts in those

tasks.
Match the following :
Theory of Propagator
Leadership pag
(a) Contingency i. Martin Evans
Theory and Robert
House
(b) Path-goal ii. Fred Fiedler
Theory
(c) Situational iii. Paul Hersey
Leadership and Ken
Theory Blanchard
(d) Greatman iv. Gordon
Theory Alport

(@ (b (c) (d)
(A) i i i iv
B) i i iv i
(C) i i i iv
@ iv i i i
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21.

22,

23.

24.

25,

Who is associated with the radical
approach to industrial relations ?

(A) Mahatma Gandhi

(B) John T. Dunlop

(C) Karl Marx

(D) Allan Flandevs

According to John T. Dunlop, the

outputs of an Industrial Relations

System include

(A) Agreements, customs and
traditions of the work place and
work community.

(BY Awards and orders of
Government agencies.

(C) Regulations and policies of the
management hierarchy.

(D) All the above.

The institutional causes of industrial
disputes do not include

(A) Technology and Machinery

(B) Recognition of Unions

(C) Membership of Unions

(D) Bargaining Unit

Arrange the following in a sequence
according to the years of their
establishment from the earliest to latest

a. Indian Labour Conference

b. Central Board of Worker's
Education

c.  Standing Conference on Public
Enterprises

d. Indian National Trade Union
Congress

(A) a,b,c,d (B) a,d,b,c

(C)y d,c.b,a (D) b,d,a,c

Assertion (A) : The scope of
Industrial Relations is relative
to business environment.

Reason (R) : It shall be Universal
and Perpetual.

Codes :

(A) (A)and (R) are right.

(B) (A)isright and (R) is wrong.

(C) (A)is wrong and (R) is right.

(D) (A) is right, but its explanation
given in (R) is wrong.

J-55-14
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26.

27.

28.

Match the following approaches to
trade unionism with the propounders.

Approach Propounder

(a) Socio- 1. Frank
Psychological Tannenbaum
approach

(b) Industrial ii. Selig
Democracy Perlmaw
approach

(c) Scarcity iii. Sidney and
Consciousness Bealrize
approach Webbs

(d) Sociological iv. Robert F.
approach Hoxie

Codes :
(@ (b) (c) (d)
(A i1 i iv ii

(B) i i i v
(C) iv Qi i i
@ i i di v

The Jamshedpur Labour Union is
{A) a general union.

(B) an industrial union.

(C) acraft union.

(D) an industrial federation.

Arrange the following in a sequence
according to the years of their
establishment from the earliest to the
latest :

a. Madras Labour Union

b. Bombay Mill Hands Association
c. AITUC

d. Indian Federation of Labour
Codes :

{A) ¢, d,b,a (B) ac db
(C) d,b,c,a (D) b,a,cd

Paper-11

29.

30.

31.

The provision of Unfair Labour
Practices is incorporated under which
labour legislation ?

(A) The Trade Unions Act

(B) The Industrial Employment
(Standing Orders) Act

(C) The Industrial Disputes Act
(D) The Factories Act

Which one of the following is not a
manifestation of inter-union rivalry ?

(A) A registered union pressurizing
the employer to call it for
negotiation on issues which are
already agreed upon with the
recognized union.

(B) A registered union claiming
itself to be the majority union
and as such pressurising the
employer to accord the
recognition status to it.

(C) Two rival groups of members
emerging within a
expressing their support to two
separate office bearers of the
union.

union

(D) The members of two registered
unions getting engaged in a
blame game while performing
a job that calls for team work.

Which Article of the Indian
Constitution deals with Right to
Freedom of Association ?

(A) Article 15
(B) Article 17
(C) Article 19
(D)  Article 23

J-55-14
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32.

33.

M.

35.

Which of the following conventions
of the ILO has not been ratified by
India ?

{A) Convention relating to Forced
Labour.

(B) Convention relating to
Freedom of Association and
Right to Organise.

(C) Convention relating to Equal
Remuneration.

(D) Convention
Discrimination
{Employment/Occupation)

relating to

Under the Factories Act, it is

compulsory for an employer to
appoint a safety officer in his factory,
if the number of workers employed
in factory is

(A) 400 (B) 600

(C) 800 (D) 1000

Which of the following factors is not
responsible for growth of social and
labour legislation ?

{A) Early industrialisation
(B) Rise of Unionism
(C) Establishment of ILO

(D) Ethnic association

The amount of funeral benefit under
the Employees’ State Insurance Act
is

(A) %2500
(C) 5,000

(B) % 3,500
(D) 10,000

Paper-11

10

36.

37.

38.

Which of the following is not
affected by the Trade Unions Act 7

(A) Any agreement between
partners as to their own
business.

(B) Any agreement between an
employer and those employed
by him as to such employment.

(C) Any agreement in consideration
on the sale of the goodwill of
business or of instruction in
any profession, ftrade or
handicraft.

(D) Al of these.

Chronologically arrange the years of
enactments from earliest to latest of
labour legislations relating to wages
and remunerations given below :

a.  Minimum Wages Act
b.  Payment of Wages Act
c¢.  Equal Remuneration Act

d.  Payment of Bonus Act

Codes :
(A) a/b,cd (B) acd,b
(Cy b,a, dc (D) b,a,c,d

Which of the following is not
considered as “Wage” under the
provisions of Payment of Wages
Act?

(A) Any sum paid to the employed
person to defray special
expenses entailed by him by
the nature of his employment.

(B) Any remuneration to which the
person is entitled in respect of
overtime work.

(C) Any sum to which the person
employed under any scheme
framed under any law in force.

(D) Al of these.
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32,

33.

3.

3s.

IR 97 WA (3TRuatst) &
frefefaa Hamemt & 9 59 o 9ra 3
i T A T 2

(A) TR T HawH

(B) g sHM & Wa=dr A I8
SIS T TIHR T Holw

(C) UM TIRATHE et she=vm

(D) 9WE  RSTIR/EEE) ey
FHAT

FHRGAT T & T Th 9T
% et 7Ie e & foh o oo SRE™
o U G AfERt @ g w0 | Ak
9% HREH § HH HH ae HEAT B

et &
(A) 400 (B) 600

(C) 800 (D) 1000
fefafad ®Rel § 9 I 91 HRE
g TE W HAAT 6 foaw & fore
fSTar @ € 2

(A) U9 3TnfiTeheRTor

(B) IR 1 37T

(C)  3TETAST i ST

(D) I 99

FHAR T dTT AMEE % o
I @R & fau &g afer =
EIECICE )

(A) 2500 (B) 3500
(C) 5000 (D) T 10,000
J-55-14
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36.

37.

38.

frfafed & ¥ 69 W 2T greA

st =t e =@ el 2

(A) T 9MIERI & =9 {0 FadE 9
T g ST

(B) U (ot 2 S0 FHHaEl &
4 39 YR ¥ FEtad Hig
CECE)

(C) Tt Hemg & g 3Tar fhat
O, G4 T TRIRCT TRel
% fasha & wiawer & fow fear
T AT

(D) SRS Tt

frfefEa Aeigdt we aiRetes weeeet
YAl I FICHHATER TRl T |
AT HITT :

(a) =AY Teigd AfufEm

(b) ST W Sttt

(c) THM U T

(d) TG GEE statad

e
(A) a,b,c,d (B) a,c,d,b
(Cy b,a dc (D) b,a,c,d

frfeafea & @ fogew wogd @8E

afyfam & wagEl & ST TSR

TET AT ST 2

(A) T TR ST fREr TSR WA
AT T 3TH FRT Y oo
W @d HH F fow § St ¢
T 3 ISR B THT 1 T@d §T
TG AT ST &l |

(B) uE T e o auamit
FHA FA T Pl AR DR
TEar e |

(©) U wfr S e o wEE %
3T foRell WhT o ST o7l g
oA I T ST &

(D) SRR Tt

Paper-11



39.

40.

In the landmark judgement by
Supreme Court in case of “Bangalore
Water supply and Sewerage Board
Vs. A. Rajappa” which of the
following is mnot considered as

gssential  requisite for defining
“Industry” ?

(A) Systematic Activity

(B) Profit-motive and capital

investment

{C) Co-operation between employer
and employees

(D) Production and/or distribution
of goods and  services
scheduled to satisfy human
wants and wishes.

Match the following according to the
types of bonus :

(a) Attendance i. Pooja
bonus paid over Bonus
an unbroken
series of years.

(b) Biannual 1. Profit-
payment of a based
Month’s  salary Bonus
for a long time
which has
become an
implied
condition of
service.

(c) Payment of a iii. Custo-
lump sum mary
amount during Bonus
Pooja time.

(d) An amount paid iv. Contra-
being linked ctual
with dividend Bonus

Codes :

(@ (b)y (© ()

(A) i i iv i

(B) i iv i i
(C) i i i iv
M i i i v

Paper-11
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41.

42,

43.

Who
Movement

Welfare
early

spearhcaded the
during  the
industrialisation period ?

(A) Robert Owen

(B) Robert Katz

(C) Andrew Ure

(D) Sheebhom Rowntree

Baveridge Plan is associated with
a.  Unemployment

b.  Disability

c¢.  Loss of livelihood

d.  Retirement benefits

Codes :

(A) b,candd (B) bandd

(Cy candd (D) a b,candd

Which of the following statements
about CSR provision in the new
Companies Bill passed in parliament
is not true ?

(A) Tt is compulsory for a company
to spend on CSR if its net
worth is at least ¥ 500 crore.

(B) There is provision for minimum

turnover of ¥ 800 crore.

(C) The net profit of at least ¥ 5
crore in a year is a condition

for compulsory spending on
CSR.

(D) The companies have to spend
2% of its average profits of
three years on corporate social
responsibility.
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39.

40.

“HTAR BT TETE SR ToRst are T
T IS % ORI U W SR,
T w URAINE A % AU
frefeted & 9 69 e o= &l
HET AT 2

(A) Tafyad frar-sema

(B) W-IISH e S e

(C) Fame iR wH=al & =
HEehI

AT SEvIharsti ol [ &
& forw & ScaRi Td et @
IeTE /27 forevor e & |

(D)

AT F THR F AR A H

GHfeTT T -

a. BRI S99 T =t
T GAT F 3T
HER TS i

b. Tt <d 99T &
fore <1 oot o ww
IR UH HE & I
% SRS i TR
STt e =l ffed
IAFTEE |

c. IoT TR T
T &1 T AR
d. e § gt
Tfer =t ST
HE:

i ST AR

ii. TINT-3TTeRT
Clerst

iii. JaEg 99

iv. GfasT 99

(A) i i iv i
B) Qi iv i i
(C) i i i iv

O i i i v

J-55-14
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41.

42.

43.

YRAeh ANTeheor o T o SR
FHAT A=A bl HAM [HTF & o

o 9
(A) & faT
(C) uiggaw

(B) e H
(D) Mo TS

SRS AT ol T
(a) SRS (b)
(c) Shfae & & (d)
HE

(A) b,c3Rd

STEIHAT

aa oy

(B) bawd

(C) ¢ 3d (D) ab,c3Td

TS R IR 9 AT ot o SER

qUHAR  F  WEEHET % S

frfeafaa Foet & @ 39 91 F29 T&l

T E 2

(A) UH A & T & T8 IR & o
T FHAT A & A 3TqH T
i #9 ¥ w7 T 500 HE B
T

(B) z®W T 800 IS I iaw feshl
I UEEE

(C) HUgAR § 57 o & e

TEHH € AE HEA FOIE AN

HH H HH T 5 HUE I &l |

HATTAT St 3O I o6 & AT

T T 2 Ufaed SRS HHISS

FT¥reel U S AT BT |
Paper-11
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44.

45.

46.

47.

‘A place for everything and
everything in its place’ is the basic
underlying principle of

(A) Safety

(B) House-keeping

(C) Workplace governance

(D) None of the above

Under which legislation, housing is a
statutory provision ?

(A) The Factories Act

(B) The Mines Act

(C) The Plantation Labour Act
(D) All the above

Which of the following statements
about ‘labour’ is false ?

{A) Labour is not a commodity.
(B) Labour is perishable and does

not last.
(C) Labour is inseparable from
labourer himself.

(DY) Rapid adjustment of supply of
labour to its demand is
possible.

Assertion {A) : The ‘hard boiled’
business man’s approach is that
‘labour” is an  inevitable
nuisance constancy asking for
more.

Reason (R) : Unlike west, in India it
was hardly realised that labour
is important for the social and

economic processes of an
egalitarian society.
Codes :

(A) The (A) is wrong if considered
by its basic philosophy and (R)
validates the (A).

(B) (A)isright and (R) is wrong.

(C) (A)and (R) are wrong.

(D) (A) right, but (R) does not
validate the (A).

48.

49.

50.
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Which of the following trends are
currently seen in the employment
front in India ?

a. Increased women labour force
participation.
b. Underemployment.

c. Growing employment in informal
sector.

d. Increasing demand for unskilled

Manpower.
Codes :

(A) a,bandd (B) a,bandc
(Cy b,candd (D) a,candd

Which of the following have been
devoted to reduce inter-firm and
inter-area differentials in

India ?

wage

(A) Joint Negotiation Committees
(B) Wage Boards

(C) Works committee

(D) Joint Councils

Under which
mcentive

of the

plans “a

following
worker s
guaranteed a minimum wage on the
time basis. Then a standard time is
fixed for the completion of every
work and if the worker completes the
work in less time, he is given a bonus
of the
proportion to the total time™ 7

(A) Halsey Premium System

time actually saved in

(B) Rowan Premium System
(C) Barth System
(D) The Emersion Efficiency System

J-55-14



44.

45.

46.

47.

ot et % forr ueh T, wedt st
3 T T et SR fagr & 2
(A) g

(B) &Sd IfuT

(C) HrEwe e

(D) ST § | B 7@

g fagmem & o, omEW™ UH
HAT e Tae= € 2

(A) HREH AT

(B) @M 3ttt

(C) T g\ At

(D) ST ot

fafafea & ¥ ‘o9 T &9 @
U A € 2

(A) 51 HIE I & ¢ |

(B) o9 & a7 € 3R Jg 3T a4
el & |

o0 ot G T e @ fHar s
Heell |

g9 H AT IR FH W AT F
TS digdr § o ST ave o

ATFHUT (A) : T dizes’ AEHIE
1 UMH T & o “o1 TF 3h
foeg &, om wsa @ gfg &t A
AT AT & 1

T (R) : US=Hl 90 9 3, YR § T8
T T WA € Tél fhar T
= G A Sl QISR Ue
s uhkatelt & fow am
AMEFH T |

(C)

(D)

FE

(A) (A) Taq € AR T SE
TY B M § @ ST AT (A)
& (R) 94T IS AT € |

(B) (A) T & 3R (R) Tora € |

(C) (A) 3T (R) T & |

(D) (A) T & W (A) & (R) 99
Tef & |

48.

49.

50.
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YRS H ISTR % &F o el
HISIRT Zebrall ¥ i F Zobrel @rg 3 € 2
(a) HfEAT 1T It Sl AR | Iheg
(b) 3Tl TR

(c) TdTiad gl | ISTIR i S+
(d) Pt TG 1 AT H
A

(A) a,b3Wd (B) abaWc
(C) b,c3Wd (D) ac3Rd
IRA T F-FH 3T -85 Aeigl
o= = ®7 & | Feferad 5 3
HH T EUE 2

(A) HFRT oIl Frfelt

(B) weIE arE

(C) = Imfq

(D) T ARE

fAfafEa aiced A § 9 e
3T T HHT B AT SERA FATH
e T & S &, R e
H QW A F T TH AFE T
fafeaa foran ST &, #i) afs e w4t 359
Y I HA THG § HL ol & Ol 39 FA
99 4 ¥ S99 W 9ET % U o
T e &7 7

(A) T Hitgay fawen

(B) e Wi fowen

(C) and fawen

(D) TR URRRTGH e
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